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✩Real-life problems

A worker can fill 145 boxes of tea 
in 15 minutes. How many boxes 
can he fill in 1 hour?

Jennifer’s computer is 41.63 cm wide and 
her printer is 48.37 cm wide. How much 
space does she have for books if her desk 
is 1.5 m wide?

A large jar of coffee contains 1.75 kg. If 1.48 kg 
is left in the jar, how much has been used?

David ran 40 m in 8 seconds. 
At that speed, how far did he 
run in 1 second?

Moishe has a can of lemonade containing 400 ml. 
He drinks     of it. How much is left?

Find the answer to each problem.

Nina has an hour to do her homework. She plans to 
spend       of her time on math. How many minutes 
will she spend doing math?

In gym class, David makes 2 long jumps of 1.78 m 
and 2.19 m. How far does he jump altogether?
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Find the answer to each problem.

1
4

20 minutes

3.97 m

1.78 m
2.19 m+
3.97 m



                                     © Dorling Kindersley Limited [2010]

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48

149

1

2

0

3

3

2

4 2 93 26 01 1

0

9

2

6

8

6

4

5

1
32

28

9

649 31 70 7

4

8

3

7

5

9

7

48

MME Grade 5 297mm x 210mm US

✩Real-life problems

A worker can fill 145 boxes of tea
in 15 minutes. How many boxes
can he fill in 1 hour?

Jennifer’s computer is 41.63 cm wide and
her printer is 48.37 cm wide. How much
space does she have for books if her desk
is 1.5 m wide?

A large jar of coffee contains 1.75 kg. If 1.48 kg
is left in the jar, how much has been used?

David ran 40 m in 8 seconds.
At that speed, how far did he
run in 1 second?

Moishe has a can of lemonade containing 400 ml.
He drinks     of it. How much is left?

300 ml

0.27 kg

580 boxes

60 cm

5 m

Find the answer to each problem.

Nina has an hour to do her homework. She plans to
spend       of her time on mra34coG 016 


